=mx+b WARM UP "
J FED. 10, 2012 },"';*; S

Find the equation of a line that is perpendicular to
5x - 2y +14 = 0 and has an x-intercept = 10.




Homework Solutions
ANSWERS => I\J’I)l\(éﬁﬁ FQUATTON'S

L S o T i, W

WORKSHEET #4

da) Q‘X-I*\Lj 3 O b)GXJ+5 O C)Q'x'-BS‘—-Q
u’)’)u»gj BRXH-5= y ﬂ'f-}@
\j— '_tDrX‘i'B 6 53
W Ax=y
M=-9 b=5 N
b=3 v
"3
b=0
d) S-Dy-6=0 e) 3x-9= P)Js('xm-@( -3)
& ’XQG; %g» \Lj u3rx+3 %
EVRE M=3 3x—+3-+@;-a
SA=-3 =y b="-a Bx+ 9=
) V) %—
=43 X+ A=
M5 53Ty 9
b=-3
il e M



Homework Solutions continued

i - X x4
' = Q "\) rX_‘“\SL = '
Q) KXYy o)
Z ) |
&S (S ’—_-]_21-3kj =4
Bz—xw:, OX~Au=4
| &)fx_’g = Oy
== 3 3
b= Dx—H.=
\3rX 3 J
=9
3
b= -M
3

Da) m=-M_ ?b‘:é)

Given the above information., vou wouw ld

ULS(, +he Slope %m\—\ercem' W%e cd 4o
Find +he equoatron of the line.

b +b
Yzt

3a)(-1,3) (-2,6)

Given +the above informartion, we wou ld
Hrst Find "m' and _+hen use

tjo-@ --\—h{;(ﬁnré ‘) ‘o Hind the equarhon

m=3§1-:!. Mn=-3 | mcx %)
27 A QX :\d\) —>(‘l S I g ‘)
=3 v-' =-3 7(1—1)
-2~ g-—_ﬁ‘—‘- —BAX-D
= _:}_ \/""x *5__37(
= \ ~n—37(
=3

%ij*"



Homework Solutions continued

4o) m=0 , 34M) b) =3, b=2

Yy.= X=X 1) A= %t b
Stk = 0 (x=3) = 3%+

Y =O0OX +0 :
y+M=0 O= 3A~y+

a) Ferpendicular Yo \) =R => m=""12
X —intecept iIs-3 => (3,0

-\\ = (X=X 1)

-0 = =1 (x—-3)
2
v = A x +3)
=-1.%X"3
VT |
_IQ_er +y+t3 =0 —=> |x +2y+3=0 (muH-. byz)
2

d) facallel +o 3% 1—3\/‘=i ] "X-"erE:rcep\*:‘QJ

NChRerSd > (‘2,0)
:f 3
\/w— 'X-Jr.%_
mMm=-1



Homework Solutions continued

e) X-interceptis -4 => (—'\130)
™M =-2

C \
% m:z(}_(x'x 24)
Y= -2 (x+u)
kj" ~DK—

@%+3+8 =0

£) N l\'ﬁ‘trc,t:p“\'“& => (0,-2)
m= ‘12,
Yl m Cx- ‘X.l)
\/ - 2= '12.(x-0)
= Iax -0

- |,
O“ lzixiy N (muH-tp‘.\sjb\,.QJ)

8)(9 1)

Pum\lel to X-axis => m=0

N~ \/. mn (X-X1)

o(x—-2)
X/-I? O(‘X*rih)
. P O

5 (¢2,3)
S\Gpc s the same as dxt+y=9
Ly J=-d%x+9

m=-2

gj —m(:A x.)
QC‘X-!'Q)
5=——;)'x—

eDfx+ 3+N=0
Q’x+§1‘—| =0



Homework Solutions continued

6. Side
RS TEN)

Side RS |
R(9,0) SCD,-1)

Side RS i3 paralleldu PQ

Wpey™- Y2 i 3
s = TRt
S _
= 1 -V, = e
4 “o=gd (x-2,)
VRN S YT
N O= 1 A=y =gl
\/‘—‘\l'= A X-3 4 M
“ "f' O=|O(*‘\4\f—§b
O=._L:x-\/—j__+-"-l
5 5
O=I%X-My-3+I16
O = Iﬁ(—‘\{j-\-l:")
«'Sldﬁ Pg Sidﬁi @R
P(-1,3) SC2,0 QG3,H4) RKD,0)
Mps= Yo~ Vi Side QR is parallel
R e to PS -
= """3 MQR k'
_Q”E_I (X-X,)
= - \ 2 M i
:{i / Y ‘\1(7&82)
= N = HX .
N \/‘—m(x -X,) él Nx-y-¥
3= H(x -
Y237



TCaM) Qler2) SO Homework Solutions continued

Q) TE2 M)
Parallel Y0 QS => mgg = Yo Y.
K= X,
Mes=-N=2
O0—G6
©
i
3
M (xX=X)
? Ry —_L_(><- 2.)
H =] (><+2J)
Y 3
~ _'—.‘-—__LJ"X*-QJ
Y 3

_L_?H-y ‘4+2.1 =0
|f;<+‘5y—m+2, O

|7(+3\/ 10=0
b)gzee ja) | -
erpendicular 0 TS = Mg = Y2~ Y,
Xz'x|
:-iﬁ-‘h R
—2  my= i
=T-% g
2
=

(x-x,
N \éd m(x c,)
N+2= __,__i’»__(xHé;)
O-:_Lx—y-%»j;?_—
L'__

= |x~- ‘-i)ri—b s
Q" | X~ 4y =D



Homework Solutions continued

8. Same V-int as 8'x+5‘-‘: _
= g=mdt6e
b=G
Qv
(0,6)

Same Slope as Ox o (v X;
VX ‘3\/ J é~—z (X-0)
m“"rb -lo = O%~O

O= Qx-Y+b

9 =3, (-2,3)

1—,.
"“\1:“‘1(’7(—'7(,)
jé =.:_’I3.(v<*—:a,)
V=3 =3 (x+2)
A_{
'y-3=_17<-+_63_
4
D Ra 3+ +3
4 H
4y = 3rto+ D
J = SA+18
4 4
y = Sx+.9
“ /3
b =



Quiz Monday???

Worksheet day - Review Worksheet (Solutions on the side)
Must show work then check your solutions

HFlacc
f2 ale
#3°
£ o
roo%

LS

cej‘i kwm
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